(gé} , ﬁ %2 Multipliziere Dezimalzahlen mit 10.100.1000

Name: Datum: Ergebnis:
4,702 x 10 = 1,755 % 100 =
6,851 x 1000 = 7,454 x 100 =
3,162 % 100 = 6,178 x 1000 =
6,356 x 100 = 3,846 x 100 =
7,779 x 1000 = 6,86 x 100 =
9,721 x 10 = 9,676 x 10 =
10, 024 x 100 = 4,898 x 1000 =
8,684 x 10 = 5,026 x 1000 =
9,036 x 10 = 4,35x% 10 =
3,977 x 1000 = 10,978 x 100 =
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Q’ , ﬁ %3 Multipliziere Dezimalzahlen mit 10.100.1000

Name: Datum: Ergebnis:
4,702 x 10 =47.02 1,755 x100=175.5
6, 851 x 1000 = 6851 7,454 x 100 = 7454
3,162 x 100 =316.2 6, 178 x 1000 = 6178
6,356 x 100 = 635.6 3,846 x 100 = 384.6
7,779 x 1000 = 7779 6, 86 x 100 = 686
9,721 x 10 =97.21 9,676 x 10 =96.76
10,024 x 100 = 1002.4 4, 898 x 1000 = 4898
8,684 x 10 = 86.84 5,026 x 1000 = 5026
9,036 x 10 =90.36 4,35x10=43.5
3,977 x 1000 = 3977 10,978 x 100 = 1097.8
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